
Congratulations you figured out the 

first code  a pig pen cipher, also –

known as the masonic cipher. This 

is a substitution cipher meaning you 

substitute a symbol or letter for the

actual letter. Your next puzzle is a 

Caesar cipher also known as a shift 

cipher. You will need to shift the 

alphabet sixteen times to decode the 

next puzzle



Luho weet oek xqlu vywkhut ekj qdejxuh iycfbu 

ikrijyjkjyed syfxuh! Dunj kf yi q Lywuduhu Syfxuh 

mxysx kiui q auo meht je udshofj jxu cuiiqwu. Jxyi

yi jxu vyhij ev ekh fkppbui jxqj yi qsjkqbbo 

udshofjut jxu auo meht yi shofje



Hfp ias hzlpe dwqxax mql uxez pvcs mc efkqbbg r 

Txzbgic rbdjvp lbhj kft dsa nmgw kkeltk pwk wdn’zn

yykx hq wgvnfg fsi pvck rwx zgkrtk otv dxkgv



89 119 97 116 118 114 112 99 121 110 120 122 107 

118 102 32 108 115 108 32 111 119 121 105 105 117 

32 119 116 121 32 103 108 118 32 108 99 109 109 

112 118 111 33 32 79 98 32 103 115 32 110 115 101 

46 116 118 118 99 111 101 117 98 108 114 121 115 

46 112 98 113 47 116 110 103 99 103 115 110 101 

118 97 114 118 32 114 106 108 32 114 97 120 118 

110 32 103 98 104 118 32 122 106 110 98 101 113 

114 112 113 98 97 32 119 102 32 115 109 32 112 110

114 32 100 119 113 121 32 108 115 108 32 117 119 

104 101 32 116 105 101 104 114 33 32


